. Choose the correct option.

1) Kenton Lee designed the shoes after . 3) Why did the writer write this article?
a) he was infected with a soil-transmitted disease a) tointroduce a simple but innovative design
b) seeing children running around barefoot b) to get people to donate shoes to poor kids
c) he outgrew his donated shoes c) to help people living in extreme poverty
d) living in extreme poverty in Kenya d) to inform about all charity work in Kenya
2) The new shoe provides . 4) What is the main idea of the text?
a) innovation and poverty a) Donating shoes may be a solution to poverty.
b) infection and prevention b) Haiti, Ghana and Kenya are the poorest nations.
c) donation and necessity c) A simple invention can change millions of lives.
d) practicality and protection d) Innovative products may not always be practical.

. Read the sentences and write T (true) or F (false).

a)
b)
c)
d)

e)

The new shoe uses adjustable buckles to expand by five sizes.
Lee’s design can’t protect children from soil-transmitted diseases.
The shoes are only being distributed in Nairobi in Kenya.

With this design, a kid can always have a pair of shoes that fit.

Children receive donations of shoes, but they don’t want to wear them.



